Definition of Generalized Forces (Sec. 7.4.1)
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Example 7.7

Force F acts parallel to link A B. Alternative choices for the gener-

alized coordinate are the angle 0 or the distance y. Determine the generalized force
corresponding to each selection.
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Conservative Forces (Sec. 7.4.3)

For covgiethet fyoy sl dore = Chian. 1n @@M\'ql anery

L\Bh = \J(—\JZ} Wiy = werle fom skle 1 ko Skl 2
\)\ - @5\9:/\)&\0\ QM‘]W o &‘&U\Q 1
Uy = @s\@\jﬁﬂ\ overyy o Stk 2

@0\0qu\ ooy éﬁ@mﬁ\ on '\}(35\’\0« GO )Nﬁ", SO \;\\E\\f 0\ Q’gw\gh(,\ l . st i
Ul )
%\/\D ’&K/\QXY JY\M ?M(\\\“&B %\L@ QM\& CQ/\}(/\}QAlF\\H ‘(%)/'CQ\ -

@ Sww - ’5%5 \JQQ;AX

Rt ast all %@z\ Ot C@AXMJM QCA (mm\ © Aol }w.%q W(@W)

(QST@K,\ i & %AU QQ(JB

C}zwm\\q YD 1 descm al\ No\w Ao 4 s W o
a@&ﬂ\\&@ ‘Q(\_ke\ s Oy bgd) %& "\ (‘QAWUqJY\\f) Tt
\oy @@\&/\*\u\ AN 6y nonGa\Rrahwt [l yio wral sk
Vel f\)ixea\w&x\ ooy )



Lagrange's Equations (Sec. 7.5)
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Example 7.13

The table rotates in a horizontal plane about bearing A due to
a torque I' whose time dependence is known. The mass of the table is m1, and its
radius of gyration about its center is . The slider, whose mass is m,, moves within
groove BC under the restraint of two springs that are unstretched in the position
shown. Derive the equations of motion for this system.
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Example 7.13 (cont.)
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